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Instructions; ‘ s
% Answer all questions on this question

Paper itself, ( FOMSE;Q'“_’—;\’

* Write your Index Number clearty in For paper 1 _ Signature | Cog o
the space provided above,

iner
¥ Select the correct answers for qx;eslions Q. Nos. [Marks || s Examlrl
Jrom 1-30 ang write its number on 01 - 30 2nd Examiner
the dotted line giyen, Addl. Chief
* Write short answers for questions||31 - 50

from 31-50 on the dotted line given. TOTAL i
¥ Each question carries two marks.

) - Chief ——_
*+ Physical and mental states that needed to be esentlly fulfled by humens are called s,

(1) wants. () goods. (3) needs.

(4) demand, (5) values. . ()
2. A business sector classified based on ‘the nature of production’ would be

{1) sole propn'etorship. 2 .public enterprise.

(3} franchise business, (4) primary business.

(5) industrial business. (=)
3.

Alfa  Company produces high

efficiency and purchasing raw
about innovativ

development

quality products by examining the methods for enhancing cost
materials daily. Moreover, the company is coniinuously concerneq
¢ opportunities through novel technological strategies. The number of research and

activities included in the above case are

n 1. 2 2. .(3) 3.

4. If a customer prefers a certain
(1) convenience good,
(4) private good.

@) 4. (5) i. (ennnd)

good because of its unique identity, that good is a

(2) unsought good. (3) shopping good.
(5) speciality good.

(crenid)
5. The following table shows éome international organizations and their member countries_.
International Organizations Menmber countries

(i) European Union (EU) A- Cyprus

(ii) Association of South East Asian Nations (ASEAN) B - Japan

(iii) G8 C- Uganda

(iv) South Asian Association for Regional Cooperation (SAARC) D- Laos

(v) African Union (AU) E- Afghanistan
What is the option that correctly matches the member countries according to the order of
international organisations given?
(L) A,D,B,EC (2) A,E,CB,D 3) C,B,E A, D

’ » ? . » . D’ A, B, E, C

4 C,E B,A,D &) ()]

[See page two
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6. Following are two statements related to businesses.

Statem . s and weaknesses of a :
A ts::;ntgthnmmml analysis. s ey Heniiied through an  intesnal
Statement B: Opportunitics and threats to a business can be
environmental analysis.
From the above two statements,
(1) Oaly A is comect.
(2) Only B is comect.
(3) Both A and B are comect.
(4) Both A and B are incorrect.
(5) While A is comect, B is elaborated through A.

7. Choose the option which includes the pair of businesses
the devaluation of the Sri Lankan Rupee.

identified through an industry

which is favourably affected by

(1) Construction, Tourism (2) Motor vehicles, Tourism
(3) Motor vehicles, Tea (@) Construction, Tea
(5) Tourism, Tea Goedd)

8. ‘Sustainability’ means,
(1) Short-term view on environmental, economic and socjal forces,
(2) Long-term view on environmental, economic and cultural forces.
(3) Short-term view on environmental, political and social forces,
(4) Long-term view on environmental, economic and social forces.

(5) Long-term view on environmental, cultural and political forces, [
9. A scrvice that is not provided by the local government bodies in Sri Lanka is"
(1) removal of garbage. :
(2) implementation of financial policies.
(3) implementation of environmental policies.
(4) coilection of rates,
(5) approval of building plass. (eel))
i0. Following are some types of taxes implemented in SH Lanka.
A - Production Tax B - Corporate Tax
C - Advance Personal Income Tax D - Value Added Tax
E ~ Sccial Sccurity Tax F — Capital Gains Tax
G - Withholding Tax
From the above, what is the group that contains only direct taxes?
() A,B,D,E @ A,CEF 3) B,C,FG
@ CDEG ®) CEFG (eeeed)
11. Following are some monetary policy instruments. ’
A - Bank rate B —Moral suasion
C - — Open market operations D —Margin requirements
E - Statutory reserve ratio . F ~Re-finance facilities
From the above, what is the group that contains only quantitative monétary policy instruments?
() A,B,C 2 ACE 3)B,D,E @C,DE 5)CEF (...)
12, A criterion that does not classify micro, small and medium enterprises is,
(1) number of employees. (2) production volume.
(3) invested capital, . . (4 annual tumover. .
(5) profit margin, (oeered)
__ . _J
[See page three
32 - Business Studies (Marking Scheme) G.C.E. (A/L) Examination - 2022(2023) / Amendments to be incladed

CamScanner


https://v3.camscanner.com/user/download

14,

15,

16.

17,

. (5) a person who sells goods on behalf of the principal on credit and being responsible for the

PR jetors
- : ropriet
Select the comect statement pertalning to sole P : :

hips.

(1) Reglstration is mandatory.

(2) Auditing is mandatory,

(3) Payment of Income tax Is mandatory. -
(4)  Adherence to local government regulatio .
() Pamily member participation in managem

Select the option that includes an attribute of @ company
(1) Profits are not distributed by the company one
() Limiting the minimum number of directors 10

() There should be at lcast two shareholders' ,
(4)  Ability to issue shares and securities publicly : (""'-) !
(5) Setting up with a business purpose

Following are some of the facts related to a company- f sharc
A - Objectives of the company B —Rights ol the re
C —Share capital of the company D - Address of

E —Management of the company

. i Artic]

be included in an Atticles o
Out of the above, select the: group that contains only the fac‘ts]_.t:nka-
Association ag per the Companies Act No. 07 of 2007 of Sn B, D, E
(1) A, B, E @ A.c,D @3 B, CD @B

Following are some functions of the Central Bank of Sri Lanka. ial policies
A —Management of public debt B —Implementation Of.ﬁ m.m;m gence services
C —Management of foreign exchange D -~ Provision of financial in ees’ Provident Fund
E - Supervision of financia systems F — Custodian of the Employ

. rformed by the Cep
From the above, select the group that includes only agency functions . -
Bank on behalf of the Government of Sri Lanka. . 3 B,CEF
(M A, B,C E ) A,C,D,F (
) B, M E,F E, 7

(5) C, D, g 4
An example for a husiness risk that can be insured is,
() change of fachion.
{2) depreciation of machines,
(3) losses of business.

%) fluctuation of the value of money.
5Y  default of debtors.

jg mandatory:
js mandatory:

6) G D,E

‘A factor agent’ means,

(1)

a person who receives a brokerage for transactions by connecting buyers and sellers.
@)

; : . i i f
a person who receives a commission by performing transactions on own discretion on behal
of the principal.

(3) a person who sells goods of the
verbally.
@)

a person who buys or sells goods under his own name on beha#f of the principal,

principal to a buyer who quotes the highest bid in written or

collection of debts from the relevant parties.

Coeis)
-
[See page four
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19.

20.

21.

2%,

e

r—e e

From the following entry modes of intemational trade, which one entails the lowest risk?

(1) Joint ventures (2) Exports
3 Melg‘us 4) Acquisitions
(5) Foreign Direct Investments (FDI) o)
The following table shows some management concepts and descriptions relating to them
o9 .
| Concepts Descriptions
. . A way of distributj i o
@) Unity of command A- organ}ilzation, ing authority, tasks and responsibilities of an
T
(i) Decentralization B- Ihe continuous flow of ordering from top to bottom of an
rganization,
\
(iii) Span of control C- One subordinator being'responsib[e for one supervisor.

(IV) Organizaﬁon structure | D - The number of subordinates directly reportine to a manaeer.

Delegation of decision makip
management,

What j : comect t - "
abovc?ls the option that y matches the descriptions according to the order of concepts given

(v) Chain of command E- 8 power from top to lower level

(I A,B,E C,D (2 A,D,E C, B
et S 3) G EA,D,
4 C,E, DA B () E,B,C,D, A ®) D(B)
The following are some of the sources of power recejved by a.manager.
A - Legitimatc power B - Coercive power
C - Rewarding power D - Referent power

E —Expert power
From the above, select the group that includes the power received only to the position.
() A, B, C @ A CE @ B,C,D #B,D,E (5 CD,E (..)

The ‘otal annua! cost and total variable cost of a manufacturing entity are Rs.360000 and
Rs.120000 respectively. The e}nnual Income earned by the entity by selling 6000 units was
Rs.300000. The number of units to be sold by the entity to reach the break-even point is,

(1) 4000. (2) 8000. () 10000.  (4) 12000. (5) 20000. (....)
The component which does not belong to the holistic marketing concept is,
(1) relationship .marketing. (2) intemal marketing.
(3) performance marketing. ' (4) brand marketing,
(5) integrated marketing. G....)
From the following financial management decisions, what is a long-term financial decisica?
(1) Modemization of businesses (2) Diversification of businesses
(3) Dividends - - (4 Stocks
(5) Bank overdrafts [
Following are some financial market instruments,
A —Treasury bonds B —Inter-bank call money
C - Commercial papers D - Corporate bonds
E - Treasury bills F —Shares

G - Letter of credit
Out of the above, select the option which includes instruments only pertaining to money markes?

) A,CD,F " 7 (2 ADEG 3) B.CEG
| @ B,D,EF ) C,D,EF ) ;
{3z pege five |
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2. Following aro some principles relating to collection of revente:

A - Equity B _[nse[nmb“i‘y
C —Convenience D - Quantifiability
E —Certainity F - Economy

. ioles relating to taxation,
8‘)“ ?\f. tge, ;)m;e' select the option which contains only the princiPie 3 B,C,D,E

2 A CEF

@ B,D,E,F G) C,D,EF )
: - ber of
27. According to the payment of Gratuity Act No. 12 of 1983, lh‘f ""mmuinm?;m years an
employee should serve under an employer to qualify for a grawity PAYT '7
3 @ ms @ws O e
28. Below are some industrial actions to be followed by employers a_nd employees.
A —Work to rule B — Abstaining from overtime
C - Lockout D - Avoiding work
E —Strike replacement F - Picketing
G - Shifting production premises H - Vacation of post

Out of the above, select the option which includes only the actions that can be practiced by employers

to prevent industrial actions of employees.

(O A,D,EG 2 A,B,CH ®3) B,D,E,F
.@ C,D,EF (5) C,E, G, H (...l

29. The statement which describes ‘System software’ most accurately is,

(1) programmes developed to operate computer hardware.

(2) programmes that assist maintaining computer system orderly.

(3) programines developed especielly for computer users.

(4) physical comporents of computer and ussociated tools.

S iools vsed for storing computer programmes. . (o)

30. The following table shows quality control techniques and descriptions pertaining to them,

Techniques Desoriptions j
; L R
. ]
() Quality circlcs A - Ensuring each product is manufactured free of defects.
(ii) Zero defects B - Streamlining production process for ensuring product quality.

(iii) Quality assurance | C- Techniques used for improving products and its process.

(iv) Quality standards D - Small group discussions for solving issues §n production.

L Production of goods complying with national or international
(v) Six sigma E- standards. .

Select the option which correctly matches the description according to the order of techniques given

,above.
(1) A,B,C,E,D (2) B,C,A,D,E @) B,E,D,A,C
4 D,A,B,E,C (5) D,C,E,B,A
(bussic)
N ..
[See page $¥
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®  Answer Question No. 31 to 40, by filling in the blanks with a suitable wox_'dl words,
31. (a) Commerce consists of two elements, ..........c.veennees ANA coeeiene sodsadn
(b) Managers are aq-.................... evironmental force and suppliers are an ........c.......
environmental force. .
32. () According to Abraham Maslow’s hierarchy of needs, food is @ «ovveresrenaceeennes need whereas
individuals’ social recognition is an ............... avaiaes need.
(b) The resilience a country has to prevent insolvency is called as ......... — stability and
the ability to control inflation is called as ..................o.. stability.
33. (a) Sale of shares of incorporated companies ihvolve ..................... ﬁmls and firms that pledges
to buy unsold shares of an initial public offering involve ............ ER— s
(b) Solutions for environmental and social issues are provided through .........c.ocvieiin entrepreneurship
and .................... entrepreneurship activates through identifying changes in organizations.
34. (a) Both employer and employee contribute for the EMPIOYES .vvverreneeannerene fund whereas only
the employer contributes for employee ..................... fund.
(b) Being absent from work without informing is called as emplOYCE .........ceerceeren. and not
“reporting to work for a prolonged period is called as ........ oTskebs Fad e a5 s aaEane e )
35. (a) Sale of goods through inducement is called as ..........cecevuennes concept and sale of goods
through value creation according to the customer requirement is called as ..................... .
(b) Businesses in Sri Larka can register their brends under No. 36 of 2003 of ....cvvveeeneennnn.,
: Property Act and then it becomes a .........ccccveunnnnn niark.
, .
| 36. (a) Financial market consists Gf ......c.cocuureeneen. .11 |1 SRS inarkets.
(b) The abbreviation for global inter-bank transaction peyment. communication gateway is called

AS wirvercnvaneneenen... and the abbreviation for is¢2r-bant. or line transaciion systzm in Sri Larka
is called as ....... TTTPRSTINS .

37. (a) Short-term insolvency of businesses can be identified through ..................... ratios whereas
...... “evevereernen.. Tatios identify the relationship between investment in assets and its returns.

(1) SN igasiney budget is used for estimating cash requirements to maintain future operational
activities of a business and ..................... budget is used for pla?ming long-term potential

investments of a business.

38. (a) A leader who accommodates subordinates’ views belongs to ....... S—— leadership style
whereas a leader who acts on one’s own discretion belongs t0 ..................... leadership
style.

logistics and supply of output to the market is a function of .........c.c..e..., ;
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(39- (a) A‘cquisition of a rubbe:
r plantation com
g pl pany by a rubber glove manufacturing firm fs an example
“venscinnn,. integration and acquisition of ‘a rubber et ple
same fim is an example for ........ veereneniens. integration ng company by the
(b) Warehousing is a process of ..euivsessceseenss and | stock
i tom the .
buying or manufacturing until they are used or sold, ke
40. (a) Administration of Government departments is mostly based on
adinitistration of teie finances 16 woetly based on . b | N gulu """" code and
) = S T e ations.
(b) In a communication process, converting sender’s thoughts into a form that can be trans
called as ... . mitted is
= Savesasie whereas processing that message by a receiver into an unders o
form is called as ........coeceerenver . ' °
@ Answer question No. 41-50, writing the suitable answers in the space provided
ided.
41, State four responsibilities of a customer. :
(1) oottt rene e s
N
G ——————— e
e ——
42, Natme Tour types of e policies that can be oblained under liabllty insuance.
(L) wvee e eeeeeeeeees e bnane s s
(2) v orsessrmssesessasspeciusssmaesrissnsssasssons s
(3) 1o eeeeeeseeen siaeeea e
s S ———
43. Write four elements of a transportation system.
() worrerereessaessansss e e
(25 oo
(3) revevesmrenssenseeessasera R
(B) 1ovmevemseeeesse e A
44, Name four bases that can be used for departmentalization.
| PR RUEEREEE R
(D) reverervenimneninnnnnrens ST T U U T U TR OO PSP PPPTPRIPRPIIEY eteesenassrasaressssistesessananants
(B) +orvvveesesses e S
‘(4) ......................... sciTsasTaes S TR dsseavaay ereraesseeseeseeseriisssaeTaTITrastisanea st TS
45. State four assumptions that are based on Product Life Cycle concept.
(1) creeremereeasrerrsresitasssansannnnsesn s asusassasenens AR Bl fodunnosdtsased veeearersrerssnaeansenes
(D) crvnreeersarnressr s o esssassevebersssvesSRIbSSEORSIISERS TSSO SRS s S 2SS
) JR R UL R A terseesvesaeesnasaneensans verenerans
YO OV VPPV PPRPITTIT Iy eeiecenssnanrraaseretisens ysgvanuesans |

ndments to be incﬂ

.
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o & e for 8 e
ame four: methods that can be used to select the most suitable candidate for @ manageig Posity,
(l) n...“_“.“" { rsdsbsubamnanEiRIRIetItenag,,,, ¢
@ o IR
T ——
(4) BT LT P, T ‘ -‘..'.."l
47. Nam -------- Sdavessssnsneanane esBsdEsisEnsnNReseeaReRanIeOy Y - ' ."...."i.u
© the each production method depicted by A, B, C, D of the given diagram.
o >
A
g B
:
g C
3 D
Volume of output §
A=,
B — s
C N s dsscsneen e
Do :
B8, Write froe e ettt
Write. four facts to be considered when Prepating @ business plan.
O N o
B ot
O ottt
) R ——
49. Indicate four benefits g firm e oo oI s
a fim can enjoy by using cloud commmfine o«
& cloud computi
O oo PINE tinbey
- o T ., e, sessserens
Y P, e, RS S rme e R
O T T ———— nssssenens
T \
50. ]ndlcatc an ML teensaa.,, AL L PP Yitesurinens .
Instance where the following technologies can be used f;
| (1) Antificial Intelligence (AI) : ... =
| 2) Quick Response Code (QR Code) : T s s S
| (3) Global Positioning System (Gps) ; I e
(GY) Comp“terAldedDemgn (CAD): . B T L s
. | RLUT PRI

zz'Busmess smdies (Mal']dng Schemel iR raman N ‘
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Additional Reading Time.. - -10 minu

question paper, select the qnestions

them you will pl'l"”ﬁ"e

you will answer anq

Use additional reading time to go through the
decide which of

Part I el Lo

1. ‘Suwapa’ company manufactures footware using local raw mawn'als and sell them to domfenuc
and foreign markets. The company has been encountering many risks owing to the prevailing

economic crisis and .import restriction of the, country.. Electricity- and fuel crises have also .
affected the continuation of manufacturmg Moreover, the company | is facing an issue of.

removing and managing of waste. generated through the manufactunng of shoes. -.

(i) (a) What is meant by.‘risk’ of a business? (02 marks)
(b) Indicate four risks Suwapa company has encounted c - (02 marks)
(i) (a) Briefly describe how the government restriction on imports of finished footware
affects the Suwapa company. =~ . , ok o (02, marks)
(b) Write two disadvantages for customers ansmg from the restriction of
the imports of finished footware. . o {02 marks) |
(iii) (a) Fropose two actions that the Suwapa company can take fo menage the cost '
_ reiating to the electricity crisis. . , (02 marks)
(b) Indicate twe methods the compeny can takc to rn"'zaP the wastv o {02 marks)
(iv) Identify two macro cnvnromnental trends connected to the above case and explam
how they affect the company. . - (04 marks)

(_v) If the management of Snwapa wmgany' decides to dizcontinue the footware
"' production in futuce, explain twn !mpacts it causes to the Sr Lankan economy
with cxamplm ; ‘ - (04 marks)
. ) : ‘ o (Total 20 marks)
2. . C) ‘Franchise can be -considered as a-prevalent business method in. the world.’ ’
" (a) Indicate two advantages' a franchiser enjoys" through' this business- method, (02 marks)

. (b) Write two dlsadvantag&s a franchlsee faces from this busmms method . (02 marks)

(i) () Write two differences betwecn ethics and laws. - M " (02 marks)
(b) Briefly describe two pillars of sustamable development provxdmg an example - :
for each. " (02 marks)|
~ (ili) (2) Name two other statutes that affect a partnershlp in Sn Lanka except for,
the Partnershlp Act of 1890. ' (02 marks)
(b) Write four charactenstlcs that can be observed in the cooperatlve busmess sector. (02 marks)
(1y) (a). Indicate four advantages.of a limited liability company o (02 marks)

(b) Acoordmg to the Companies Act No. 17, 2007 of Sri ‘Lan
ka, ind
mandatory requu'ement to be mcludcd in the names of listed :m;cegg‘g:g

companies . s (02‘—%

- |
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)Bﬂwwm Jegal implication of crossing a cheque as ‘ot Mablo;, (02 marks) |

(@ Write four services an necount holder. can obtain through an Automated Telfer g
Machine (ATM). - t . ! , " (02 mark
(b) Briefly describe one of the following, : : 8)
(1) Big data . : .
(2) B-money ] £ (02 marks)
@iil) (2 State two non-financial services the Sri Lankan government provides for the
. development of entrepreneurship. (0 maiks) |

(®) “Creativity is, a fundamental chal:acteristic of an entrepreneur’. Briéfly explain
the importance of this characteristic with an example. .
(iv) ‘Entroprencurship is considered as’ the life blood of a‘ country’s development.’
Indicate four reasons to justify the above statement.
(V) Briefly describe four challenges currently faced by micro, small and medi
enterprises in Sri Lanka. ‘

(02 marks)

(04 marks;)
mr'l .

" (04 marks)
(Total 20 marks)

4 () @ Write two differences between life insurance aiid health insurance, (02 marks)
(b) Indicating ‘whether a tenant could insure a rented house, briefly explain the
insurance principle which was based for your answer. - T 0 rarks)
(i) (@ Indicate four functions of the World Trade Organization. (02 marks)
© . (b) State four strategies that can" be adopted to increase the export earnings of .
Sri Lanka. o . oo : : S " (02 marks) |
(iii) (a) Explain one of the logisticsmethodé given below with an example.
(1) Reverse logistics - S : , .
(2) Third Party Logis{ics (3PL) T ‘ , (02 marks)

. (b) State four bepeﬁté ‘a businessman can obtain by using proper packaging' y
" and equipment in warehousing. . ‘ (02 marks)
(iv) - Stete two ways each How the crises condition prevailed in the transportation
field of Sri Lanka affect business and consumer parties. _ -+ 7 (04 marks)
{v) Describe two reasons each, for and against communicating via social media by
a businessman. B - . G . ‘ (04 -marks) | .
‘ . {Totai 20 marks)
Part 11 ‘

5. Gihan, the Chief Executive Officer of Samagi Textiles bears risks of introducing creative
projects for the .growth of the business. Similarly, he represents the organization at
employees’ events at all possible situations and maintain effective dialogues with them.

“Moreover, he builds good relationships with interal and external parties.
(i) (@ What are the two main manhgé'riaf roles that a manager should -possess which
can be, identified through the above case? | (02 marks)
(b) Write two sub-roles included in the above case relating to each main, role
identified in part (a). VR
(i) (2) Name the prime managerial skill Gihan should possess and provide two
reasons for your answer, S ‘
(b) If Gihan intends to develop a mission statement for his company, state four
" components that should be incorporated into it. ‘ (02 marks)

)

(02 marks) |

(02 marks)

———————— - .
32 - Business Studies (Marking Scheme) G.C.E. (A/L) Examination - 2022(2023) / Amendments o be included In

Downloaded from '‘Past Papers Wiki' CamScanner


https://v3.camscanner.com/user/download
https://pastpapers.wiki/
https://pastpapers.wiki/

Contident
_ ' Department of Examinations - Sri Lanka g

|
. —
[ (iii) 'Gihan is famous among employees as an employec-oriented leader. ' K :
t (a) Defining employec-oriented leadership style, indicate two chamcteﬂsch of 1202 maﬂ;s)
5 (b) Indicate four benefits the business can obtain if Gihan intends to decentralize
i . the authority of decision making. S o (02 marks)
‘~ § (iv) Following are some of the data relating to inputs and outputs of Samagi Textiles,
Raw material - 5000 units & :
Labour * - 2500 hours
Machine " - 4000 hours
Energy cost - Rs.150000 -
Labour cost - Rs. 100 per hour .
- Machine cost : = Rs. 25 per hour . :
Raw material cost - Rs. 10 per unit :
Total output - 300000 units "
(a) Compute the fo]{owing. . :
(1) Labour productivity : ' - ‘ ( % marks)
(2) Machine productivity - (%marks)
~ (3) Total productivity ' o (01 marks)

(b) State two actions the business can adopt to increase machine productivity, (02 marks)
(v) Name and briefly describe the steps that should be included into the control '
~ process in order to operate Gihan’s business effectively. iz (04 marks)
‘ ' (Total 20 marks)
6. Rasanjali is a firm which produces high quality biscuits. The newly recruited marketing
. manager of the firm emphasises the need of market segmentation and sales promoticn -
to the top management. Moieover, the need of a suitable package for the product is
highlighted. oo , L
() (@ Mention four requirements an effective market segmentation should contain. (02 inarks)

(b) Mention two advantages that a business can obtain through market segmentation
with examples. (02 marks)

(i) (a) Indicate four facts to be considered when developiug a package for biscuits, (02 marks)
(b) If there is de-marketing for hiscuits, mention four strategies that a marketing

manager can adopt to overcome it . (02 marks

(i)  According io the product classification, indicate the type of good that biscuits

belong to and state with reasons the most suitable distribution strategy and

promotional strategy that can be used. (04 marks)

(iv) (@) Indicate two advantages an investor can gain by burcliasing treasury bills, . (02 marks)
(b) Write two differences between licensed commercial banks and “licensed
‘specialised banks,

' - L (02 marks)

(v) Write four reasons for Colombo Stock Market to be important for the economic
development of Sri Lanka, (04 marks)
. : (Total 20 marks)

7. () ‘(@ Briefly describe ‘capital budgeting’, . (02 maxks)A
(b) ‘There is an advantage of sourcing funds internally th;cui externally. for a
business.” Do you agree with. this statement? Juétify- your answer, | (02 marks)

(ii) (@ Briefly explain two reas '
~-for a business,

(b) Indicate four actions that
indiscipline act,

ons as to why compensation management is important

3 (02 marks)
an employer can take if an employee commits an

(02 marks) J
\

32 - Business Studies (Marking Scheme) G.C.E. (A/L) Examination - 2022(2023) / Amendments tobeincluded

Downloaded from 'Past Papers Wiki' - Most Extensive Wikipedia of PaStP_E@perS!‘Scanner


https://v3.camscanner.com/user/download
https://pastpapers.wiki/
https://pastpapers.wiki/

Lohtidential

if) @ Indicate two‘speé;ﬂ characteristics of huthan resource,

(®) Define what is meant by ‘probationary period of employees' and indicate an

. advantage of it for both employer and employee, . .

(iv) (a)-‘Every job entails three elements:’ (02 marks)
(1) Name the three clements. : '

(02 marks)

(2) Briefly describe the lnter-relations among the elements that you have (01 mark)
identified. il mark)
(b) State four internal factors to be cons|dered in fomung L —
. - , (02 marks)
(v) (@ Write two redresses an employee can obtain, if a labour tribunal provides a .
verdict that termination of the employmem is not based P4 teasomahib
_ cause, . “ 2 marks)
(b) Briefly describe two negative consequencw a oompany can face by not i p
. appropnate Oocupatlonal Health and Safety (OHS) methods. 0 e

(Total-20 marks)

8 (i) (a) ‘Information can be classxﬁed based on dlfferent cntena Mentxon the types

**of ‘information based on the nature, ' (02 marks)
'(b) State four functions of ‘an information system. R . (02 marks)

(i) (a) Briefly explain the dlfference between system software and operating
) software ) (02 marks)

(b) Aloka: company is consndermg sultable information. systems for its employee
grades. Name the suitable information™ ‘system for each grade gwen below.
(1) Top management ,

(2) Middle management
(3) Technical officers

(iii) 2) Write four advanmgeo ‘a business can obtam by usmg mtemct for busmess
affairs. - R - (02 marks)
'b) “An email address consisis of :f:max components ‘Write the suitable word
for A aud B of the enwil address given below. ~  ~ = " (02 marks)
o 4 mfo@mohe ;,ovlk | s |
/ e \
4 ' @ symbol. | domain ' 7' B

Y'(iv) (a) Mention four advantages a busmessman can_gain by prepanng a busmess .

. plan. . © (02 marks)
(b) Briefly describe the main objective of prepanng an executive summary
" contained in a business plan. | , : . (02 marks)
<~ (v) '(a) State four instances where a financial plan that lS mcluded in the busxnm '
plan is important for a businessman. S (02 marks)
®) Bﬂeﬂy explain the necessity of conducting an envuonmental assessment when .
_preparing a business plan.. Ly . . (02 marks)

(Total 20 marks)

r
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